AIERSATE 109 25 HEHBEEAEHBENRE HEAEIMEIA
VEFSECEEE 54 EEATE(N2 5 0 (234 » 2£100 4))
I o SRR V2020 (UIEREY 0 b B 109 VEEEEESY  Hila’ -5 = 9

2. JRER 109x° —109'" =0 HYREE 7 (AWIfE)

3. 0 BAABC IENAEESTGHITEL » 35 ZAOB: ZBOC: ZAOC =4:5:6 » R LZABC =7

4. MEBE—EFEIEER 9 B BESUBTORMAES - AIPTAE R SR ABEE R 7

/
5. E—EMEEAEE 670 8 BHEG—EEAG  AETERIES AT ATEHAEIE - Bkt K
2 T ) L A T /

8
6. HEEPEET » BUFEEEIRUC ASHERIRE S ETRITEO - BT (S A BB R AR
FHAIFERE ¢ S—{E/ NI 600 E1RE 45 (BN T LUK 500 SRR - =B/ R BT LUK 400 SEEEEK...
DABCAEHE T S () AR BRI IR B /R T IR AR BT -
T A S A 4B — (B NS B DA A R R (R A B R R R B R 245
EA1—BAssAE 100 {E5LH -
(1) 10 BEREBS A EWT LM ? SUKBRTEHSUR 7
(2) 10.2 BEXE LR T 2R ? UK BEARBOR 7

7. AT Sy = —(x—2)° — 2020 (B _EETAES A(m,~4027) K B(n,—4027) - EE; C(m+n, p) thfE LR EY L6y »
Bl p="7
8. [T 150 NTHIBE  B—RENTE 50 7T 5 SERWE » FREEREFAT 40T E=KEEREL

N
36 71 BB S KRB 0 SRASER 6700 7T o BHIIEFAESKAIETENAT R > TRER KH
HEESNTEE ar+b > RIEE (a,0) B( ?

9. HFREMSIEIIEEA B C D~ B~ FAEMARIFIN - BILZY) R BRI HRIL 27 RIS - &8
f}ﬂZFﬁZ}c’/’\ﬁ‘l?ﬁE’ﬁUﬁD3A‘B‘C‘D‘E‘FE’U%JE%&HT%?F%U%4‘4‘4‘4‘4‘7525‘5‘5‘4"4‘4
o EA e BEEESEZ RS ERETRERRE - (EWER I E L MR E — RRIERER - [ —
W P A I E R R B TR AR -
AR TR A IRTUERAR 7

10. BREI—IFEHN Z DEMRNER (@0 aa,), K > &
N=a, 2 +a,_ 2"+ +a 2 +q,-2" » Hia,ae, a TR 01
N N M 2 R A R (0.bbb, ), B AR

1 2 3
M=bl~(—;—) +b2~(%j +b3-(%) e Hrbb b by, BB O 3K 1

AR/ N aFE B N+ M =(a,a,_,---aa, bbb,..),
fEELL EESE - 5UE (1.100111), +(10.101001), 3R Ry +HEAL -

PIH/H 2H



1L

12.

13.

14.

15.

16.

17.

18.

19.

20.

BAI—S 2R 50 78 » AT 30 TEMFIE 40 » 1% 30 JEAVAIR 70 - AIETRECRIANAIR S 7

1
1 1 1 I

+ + Hoet
2001 2002 2003 2020

ENlA=

' K A VEERE D R ?

AEE B 0 2 B E A=A ABO #I3HE AB X C-DWi%» B AC:CD: DB=1:4:1 " D
EEFERER 10 0 B A4BO EFE BT ? | B

%%R*ﬁ%ﬁ%ﬁ » BEMENT 20 & 30 2 - BURRILERTF.Z p SERIRAT 7

-

E—EETFRESS a®b= a=b E!j((((ﬁ@li@l ‘®1)® ...... )@z 2

1+ab’
BRIFETNEZ IR 4 RN BETN+1E2S H 14 BRSO AIFETN+227 B 14 BREHK?

1EAABC » AB=AC » BC=8 » DIfAC I » AD:DC=3:2 . P BEB BC FRYTE—{HSE - BIER{E AP+ PDHY
E5/N > BIBPEERS/V?
P

YA+ PO=4 - b PO BEEMESE—EEE R 8 Z KEIRYIN P - LAQRS B—IF
=l » RS SEEAEL - RRS=?

R s

#1-203:4>5 6 BEELIA 3 (B8 BFFEREM - i 3 RS BT R AIERR 1~6 89— TS0, -
BN : {1,25,463} ~ {45,23,61} % {1,3,2465} B=MEAREMN" 2F53E 1 1 {1,25,463} R {463,251} L RAEE" F o7&l 5 ;

R143 S BUER A RIS R AR o El
S 1~6 BRE TEaE, ?

.
7 (3£2020 {8 THEELL 100 BIBREUE(E ?

~SA RS~
$H/ 2H




